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001. What would you answer to this question?  
 "Would you like to join me for something to eat?". 
A) It sounds good! It's ages since we last had lunch together. 
B) Why not? I already have plans. I'm so sorry. 
C) My favourite food is Spaghetti with meatballs, and you? 
D) Sure! Let me know what day is the show starting at. Do you have the tickets? 
 

002. What would you answer to this question?  
 "Do you have wheelchair access?". 
A) No, unfortunately we don't, but I can call someone to help you. 
B) No, I'm sorry, but there is a cycle lane over there. 
C) Yes, we do. What kind of chair would you like? 
D) Yes, of course. Here you can find the password to access the Wi-Fi network. 
 

003. Complete the following sentence with the correct option.  
 I ____ my parents next month, I ____ the train ticket. 
A) Will visit - already bought. B) 'm visiting - have already buyed. 
C) 'm going to visit - 've already bought. D) Would visit - already had bought. 
 

004. Complete the following sentence with the correct option.  
 I ____ a cup of coffee when the telephone suddenly ____. 
A) Had - was ringing. B) Was having - rung. C) Was having - rang. D) Had had - had rung. 
 

005. What would you answer to this question?  
 "Is there an admission charge?". 
A) Yes, so please switch off all your electronic devices. B) Yes, but you can a get a reduction for students. 
C) You have to leave your bags in the cloakroom. D) No, the museum's closed on Mondays. 
 

006. Choose the correct preposition.  
 Marc and Julie are going out for dinner, so Veronica will look ____ the children. 
A) For. B) Forward. C) At. D) After. 
 

007. Complete the following sentence with the correct option:  
 Sarah ____ goes to school by bus, but today she will go on foot. 
A) Every times. B) Suddenly. C) Never. D) Often. 
 

008. Complete the following sentence with the correct option.  
 Last summer I ____ to England and I ____ a very good time. 
A) Have gone- have had. B) Was- was. C) Have been - had. D) Went-had. 
 

009. Complete the following sentence with the correct option.  
 As today it's very ____ you should go out and play with your kite. 
A) Windy. B) Foggy. C) Stormy. D) Rainy. 
 

010. Relationships between them are rather ... they do not seem to like or trust each other. 
A) Stressed. B) Maddened. C) Concerned. D) Strained. 
 

011. Complete the following sentence with the correct option.  
 Arja comes from Helsinki, in Finland, so she's a ____. 
A) Finland. B) Finlandian. C) Finn. D) Finnish. 
 

012. Complete the following sentence with the correct option.  
 Unless you ____ harder, you ____ into that college. 
A) Didn't study - are never getting. B) Won't study - 'll never be getting. 
C) Will study - 'll never get. D) Study - 'll never get. 
 

013. Complete the following sentence with the correct option.  
 Remember that very ____ ____ to make a happy life. 
A) Less - is needing. B) Much - will need. C) A few - needs. D) Little - is needed. 
 

014. Oh, let's stop trying to come to an agreement with Joe. He just does not listen. It's like talking to a ... 
A) Rock facade. B) Block obstacle. C) Stone hedge. D) Brick wall. 
 

015. What would you answer to this question?  
 What do you think Lia? Should I have my hair cut? 
A) Oh Sandra, I love your new hair cut! What hairdresser's have you been to? 
B) Well Sandra, I think your hair looks pretty good like this so you don't need to go to the hairdresser's. 
C) No Sandra, I don't actually need to have my hair cut, I went to the hairdresser's last week. 
D) To be honest you shouldn't have had you hair cut Sandra, you were looking better before. 
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016. Working conditions _________ since the new manager __________. 
A) Have been improving / took over. B) Bettered / walks in. 
C) Improved / came over. D) Will have improved / has taken in. 
 

017. Complete the following sentence with the correct option.  
 "Experience is the name every one gives to ____ mistakes.". 
A) Own. B) His. C) Its. D) Their. 
 

018. All the following nouns only exist in the plural form, expect for one. Which is the odd one out? 
A) Belongings. B) Salaries. C) Clothes. D) Trousers. 
 

019. Complete the following sentence with the correct option.  
 He ____ since he was one year old. 
A) Has talked. B) 's been talking. C) Was talking. D) Had talked. 
 

020. What would you answer to this question?  
 What is the new Italian teacher said to be like? 
A) She said that we all should like the Italian language. B) She's said to be a very nice and smart woman. 
C) She has said to write an essay for tomorrow. D) She was saying that she really likes her job. 
 

Leggere il brano e rispondere alle seguenti 3 domande. (021 - 023) 
"Dyslexia is a learning disability that (1)___ the way the brain processes written material and is typically characterized by difficulties in 
word (2)____, spelling and decoding. People with dyslexia have problems with reading (3)____." 
 

(021 - 023) 
Complete each gap of the following extract with the correct option. 
 

021. Which of the given alternatives correctly fills in the gap (2)? 
A) Cancel. B) Teaching. C) Recognition. D) Amazing. 
 

022. Which of the given alternatives correctly fills in the gap (1)? 
A) Alters. B) Differs. C) Enhances. D) Varies. 
 

023. Which of the given alternatives correctly fills in the gap (3)? 
A) Arrangement. B) Textual messanging. C) Speech. D) Comprehension. 
 
 
 
 
 
 

024. Complete the following sentence with the correct option.  
 We could change the design ____they paid the extra cost. 
A) Supposedly. B) Provided. C) Providing. D) Supplying . 
 

025. Which of the following verbs means "to gather for a public event"? 
A) To turn off. B) To turn awry. C) To turn out. D) To turn over. 
 

026. Which of the following verbs means "to be careful of a danger"? 
A) To look out. B) To look of. C) To look down. D) To look up. 
 

027. Which of the following sentences contains a mistake? 
A) If we met up for dinner, we could go to that new Italian restaurant. 
B) If you were in my position, you'd understand the reason why I love her. 
C) If I were you, I'd speak to her and get more information about the job. 
D) If I would live in a warmer climate I wouldn't get so many colds. 
 

028. Which of the following sentences contains a mistake? 
A) Most people work just hard enough not to get fired and get paid just enough money not to quit. 
B) You didn't stand a chance of getting into that University, so stop complaining! 
C) If you can't beat them, arrange to have them beated. 
D) She swore she'd never tell her husband about that story. 
 

029. Which of the following expressions means "not taking what someone says too seriously"? 
A) To let the cat out of the bag. B) To take something with a grain of salt. 
C) To put wool over other people's eyes. D) To hit the sack. 
 

030. Complete the following sentence with the correct option.  
 "Suspects are being charged with membership of an armed terrorist organisation and of attempting to ____ the 

government, using force and violence.". 
A) Overburden. B) Overcoat. C) Overlay. D) Overthrow. 
 

031. Which of the following expressions means "avoiding the main topic and not speaking directly about the issue"? 
A) To bite off more than you can chew. B) To burn the midnight oil. 
C) To hear something on the grapevine. D) To beat around the bush. 
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032. Complete the following sentence with the correct option.  
 They blamed ____ _____ being late to the ceremony. 
A) Themselves for. B) Themselfs in. C) Themself about. D) Themselves on. 
 

033. Complete the following sentence with the correct option.  
 She is vegan, she eats ____ cheese ____ eggs. 
A) Whether - or. B) Either - nor. C) Not - or. D) Neither - nor. 
 

034. Complete the following sentence with the correct option.  
 "One of the most common diseases in Europe today is the loneliness typical of those who have no connection with others. 

This is especially true of the ____, who are often abandoned to their fate, and also in the young.". 
A) Elderly. B) Old chaps. C) Ancients. D) Old geezers. 
 

Leggere il brano e rispondere alle seguenti 3 domande. (035 - 037) 
"Anti-discrimination laws and environmental protection laws are a complex mix of national and state legislation based on international 
charters. Defamation law is standardised, (1)____on a national model law enacted in each state. Workplace relations law in Victoria is 
now largely governed (2) ____ the Commonwealth Fair Work regime, but Victoria (3)____ its own occupational health and safety 
regime rather than adopting the national model." 
 

(035 - 037) 
Complete each gap of the following extract with the correct option. 
 

035. Which of the given alternatives correctly fills in the gap (2)? 
A) Under. B) Forward. C) Back. D) Before. 
 

036. Which of the given alternatives correctly fills in the gap (3)? 
A) Has retained. B) Won't be retained by. C) Is retaining off. D) Is retained on. 
 

037. Which of the given alternatives correctly fills in the gap (1)? 
A) Being standed. B) Having base. C) Being based. D) Setting up. 
 
 
 
 
 
 

Leggere il brano e rispondere alle seguenti 4 domande. (038 - 041) 
"There is a war of words between Iran and Saudi Arabia after the execution of a Shia Muslim cleric. He was among 47 men killed on 
terrorism charges. Saudi leaders said the cleric, Nimr al-Nimr, had led anti-government protests in 2011-2012. Mr Al-Nimr said he 
never (1)____ weapons or called for violence. He had encouraged people to use "the(2) ____ of the word" instead. Iran said al-Nimr 
was killed for being a Shia Muslim. Saudi Arabia is largely Sunni Muslim. There were protests against the execution in the Iranian 
capital Tehran. The Saudi Arabian embassy was (3)____ fire. Iran said Saudi Arabia would pay a "heavy price" for the execution. Saudi 
Arabia said Iran should stay out of what was an internal Saudi matter. The foreign ministry said Mr al-Nimr was killed for breaking the 
law and not for being a Shia Muslim. It said: "There is no difference between what a person does (4) ____his ethnic origin." 
 

(038 - 041) 
Complete each gap of the following extract with the correct option. 
 

038. Which of the given alternatives correctly fills in the gap (2)? 
A) Roar. B) Raver. C) Ravel. D) Ratty. 
 

039. Which of the given alternatives correctly fills in the gap (3)? 
A) Made for. B) Put in. C) Set on. D) Placed on. 
 

040. Which of the given alternatives correctly fills in the gap (4)? 
A) Without. B) In any case. C) Regardless of. D) Not standing. 
 

041. Which of the given alternatives correctly fills in the gap (1)? 
A) Rescinded. B) Nullified. C) Neglected. D) Carried. 
 
 
 
 
 
 

042. The role of the ______________ is to represent the workforce to the management. 
A) Collective bargaining. B) Trading merger. C) Strike. D) Trade unions. 
 

043. Complete the following sentence with the correct prepositions.  
 A new survey __ Britain shows that one __ seven drivers has had ___ take evasive action because __ their own risky 

overtaking. 
A) Of - out - to - to. B) Out - to - to - for. C) In - of - for - of. D) In - in - to - of. 
 

044. Complete the following sentence with the correct option.  
 Lisa, have you ever been talked ____ doing something really stupid? 
A) Without in. B) Along. C) Towards. D) Out of. 
 

045. Which of the following words is misspelled? 
A) Threshold. B) Wierd. C) Sergeant. D) Conscientious. 
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046. Which of the following words is a synonym of "implausible"? 
A) Flawless. B) Gold-dust. C) Witty. D) Flimsy. 
 

047. Four words have been removed from the title of this article published by the "Independent". Put them in the correct order.  
 "Brexit hits housing market as ____ lending____. Analysts: the deepening ____could presage declines in house____.". 
A) Prices - slowdown - mortgage - slumps. B) Slowdown - prices -slumps- mortgage. 
C) Mortgage - slumps - slowdown - prices. D) Slumps -prices - mortgage - slowdown. 
 

048. One thing you must remember, if you want to become a good presenter is: say what needs to be said without unnecessary 
words. Good presenters rarely _____ : they try to be as ... as possible. 

A) Ramble / succinct. B) Prattle / understating. C) Play with words / freezy. D) Roam with words / leading. 
 

049. Complete the following sentence with the correct option.  
 Nearly two decades after the $200 billion settlement to compensate the public for health consequences of smoking, the 

industry still ____ in Washington. 
A) Wields clout. B) Cuffs. C) Paddles off. D) Fiddles around with. 
 

050. Complete the following sentence with the correct option.  
 A woman ____ what she does not know. 
A) Put out of sight. B) Goes into hiding with. C) Conceals. D) Tears. 
 

051. Complétez la phrase avec l'option correcte.  
 ____ qui ont terminé peuvent sortir. 
A) Celle. B) Ceux. C) Celui. D) Ce. 
 

052. Traduisez la phrase suivante: "Non ce n'è". 
A) Il y n'en a pas. B) Il y a pas. C) Il n'y en a pas. D) Il en a y pas. 
 

053. Complétez la phrase avec l'option correcte.  
 ____ arbres ont été plantés dans ce parc il y a deux ans. 
A) Cette. B) Cettes. C) Ces. D) Ce. 
 

054. Indiquez le couple contenant une faute: 
A) Un pou - deux poux. B) Un genou - deux genous. C) Un bisou - deux bisous. D) Un bijou - deux bijoux. 
 

055. Complétez la phrase avec l'option correcte.  
 C'est celui ____ je t'ai parlé. 
A) Que. B) Dont. C) De quien. D) Où. 
 

056. Complétez par la forme correcte du verbe connaître (indicatif présent):  
 Elles ________. 
A) Connaissent. B) Connaissont. C) Connaîtront. D) Connaîtrent. 
 

057. Traduisez la phrase suivante: "Gliel'ho detto" (a lei 3° p.s.). 
A) J'ai elle le dit. B) Je elle ai le dit. C) Je le lui ai dit. D) J'elle l'ai lui dit. 
 

058. Quelle est la phrase correcte parmi les options suivantes? 
A) Personne ne veut parler. B) Vous avez demandé à quelqun? 
C) Non, elle a rencontré personne. D) Tu connais quelqu'un icy? 
 

059. Complétez la phrase avec l'option correcte.  
 Elles ____ le dernier train pour Nice et il faisait déjà sombre. 
A) Avez pris. B) Avaient pris. C) Aient pris. D) Aviont pris. 
 

060. Complétez avec les lettres manquantes:  
 Mes copines sont fantastiques! Elles sont toujours jo_e_ses et g_n_reuses! 
A) y - o - è - e. B) i - u - é -e. C) y - u - é - é. D) i - o - e - e. 
 

061. Complétez la phrase avec l'option correcte.  
 Je suis une jeune fille tandis que tu as trente ans, mais je suis ____ que toi au piano. 
A) Meilleure. B) Meilleurs. C) Meilleures. D) Meilleur. 
 

062. Comment on écrit 178 en lettres? 
A) Cent soissant-dis-huit. B) Cent-soisant-dis-huit. C) Cent-soixant-dixhuit. D) Cent soixante-dix-huit. 
 

063. Complétez par la forme correcte du verbe lire (futur antérieur):  
 Ils _______. 
A) Liront. B) Eurent lu. C) Auriont lu. D) Auront lu. 
 

064. Comment doit-on répondre à la question suivante?  
 "Vous avez un feutre?". 
A) Oui, j'ai un. B) Oui, j'en ai. C) Oui, j'en ai un. D) Oui, j'un en ai. 
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065. Complétez avec la lettre/les lettres manquantes:  
 Voila les chaussures qu'on lui avait laiss___ à laver. 
A) é.  B) ées. C) ée. D) és. 
 

066. Complétez la phrase selon le contexte:  
 Sophie est déprimée, ____________. 
A) Elle va faire du jogging. B) Elle va aller chez le psychologue. 
C) Elle vient de se réveiller. D) Elle vient de finir ses études de medicine. 
 

067. Complétez par la forme correcte du verbe envoyer (futur simple):  
 Nous ________. 
A) Enverrons. B) Envoyions. C) Envoyerons. D) Enverions. 
 

068. Comment on écrit 3.597 en lettres? 
A) Trois mil cinq-cent-quatre-vingte-dis-sept. B) Trois mille cinq cent quatre-vingt-dix-sept. 
C) Trois-mille cinqcent-quatrevingt-dix-sept. D) Trois-mil cinq cent quatre-vingte-dixsept. 
 

069. Indiquez l'équivalent de "ce n'est pas ma faute!": 
A) Je n'y suis pour personne! B) Je n'y suis pour rien! C) J'y suis! D) Ça y est! 
 

070. Complétez la phrase avec l'option correcte.  
 Il souhaite ____ d'eux ____vienne chez lui. 
A) Que personne - ne. B) Qu'aucun - ne. C) Que personne - /. D) Qu'aucune - /. 
 

071. Complétez la phrase suivante par les formes correctes.  
 ____ les étudiants ont participé à la manifestation. ____ les plus studieux ont ____ les classes pour aller rejoindre les ____ 

dans la rue. 
A) Tous - même -laissé- autres. B) Toutes - mêmes - laissées - autre. 
C) Tous - mêmes - laissés - autre. D) Tout - même - laissée - autres. 
 

072. Complétez la phrase suivante par les formes correctes.  
 "M. Batignole a demandé aux participants ____ et il a annoncé que la conférence de presse ____ dans cinq minutes.". 
A) Qu'ils s'asseoie - commencera. B) Qu'ils s'asseient - commence. 
C) De s'asseoir - allait commencer. D) S'asseoir - commencait. 
 

073. Dans les énoncés suivants, le gérondif exprime toujours la manière sauf dans un cas. Individuez-le. 
A) C'est en travaillant pour la paix que les hommes politiques seront respectés. 
B) Marc s'est blessé en jouant au football. 
C) En refusant de collaborer à l'enquête, les hommes ont compliqué le travail de la gendarmerie. 
D) Alexia est partie en courant à cause du bruit étonnant. 
 

074. Complétez par la forme correcte du verbe savoir (passé simple):  
 Vous ____. 
A) Sutes. B) Sutez. C) Sûtes. D) Sûtez. 
 

075. Indiquez la phrase contenant une faute parmi les suivantes: 
A) C'est à Julie que Stephane a offert un cadeau. B) C'est toi qui as laissé la porte ouverte? 
C) C'est du piano que Xavier joue. D) C'est à Bologne qui Gustave a vécu. 
 

Leggere il brano e rispondere alle seguenti 3 domande. (076 - 078) 
"Baudelaire invente une forme de désespoir radicalement nouveau, de mélancolie qui ne ressemble à aucune autre et qui est la source 
d'inspiration de sa poésie: le spleen.Le mot spleen a pour origine le mot anglais spleen qui signifie "rate" ou "mauvaise humeur". En 
effet les Grecs, dans le cadre de la théorie des humeurs, pensaient que la rate déversait un fluide noir dans le corps: la bile 
noire,responsable de la mélancolie, une tristesse vague dont on ne connaît pas les causes. Chez Baudelaire, le spleen devient une des 
composantes essentielles de l'angoisse d'exister. "Les Limbes", second titre envisagé pour Les Fleurs du Mal, visait à "représenter les 
agitations et les mélancolies de la jeunesse moderne"." 
 

(076 - 078) 
Lisez cet extrait et répondez aux quéstions suivantes. 
 

076. Comment peut-on remplacer l'expression "visait à représenter"? 
A) Croyait représenter. B) Avait pour objectif celui de représenter. 
C) Désavouait la représentation. D) Refusait de représenter. 
 

077. Complétez avec l'option correcte.  
 La rate___. 
A) Est la théorie des humeurs. B) Est un organe du corps. C) Est un fluide noir. D) Est la fleur du mal. 
 

078. Complétez avec l'option correcte.  
 Chez Baudelaire le spleen devient synonyme de ____. 
A) Bile noire. B) Angoisse de vivre. C) Limbe. D) Jeunesse moderne. 
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079. Complétez par la forme correcte.  
 Avant de partir, elles se sont ____. 
A) Souries. B) Souri. C) Souris. D) Sourie. 
 

080. Complétez avec la lettre/les lettres manquante/manquantes:  
 Affol__, les brebis s'enfuirent. 
A) é.  B) ées. C) és. D) ée. 
 

081. Complétez la phrase par la forme correcte du verbe pouvoir:  
 Pourvu qu'elle ____ rentrer avant neuf heures. 
A) Peuisse. B) Puisse. C) Peut. D) Pouisse. 
 

082. Les mots qui suivent sont des synonymes de sincère, sauf un. Lequel? 
A) Honnête. B) Intègre. C) Fidèle. D) Captieux. 
 

083. Sélectionnez la bonne réponse ci-dessous:  
 Il faut se ____. 
A) Dépécher. B) Dépècher. C) Dépecher. D) Dépêcher. 
 

084. Quelle est la fonction du groupe nominal entre guillemets?  
 Cette histoire lui a donné "du fil à retordre". 
A) Complément d'objet direct. B) Attribut du sujet. 
C) Complément d'objet second. D) Attribut de l'objet. 
 

085. Traduisez l'expression suivante: "au fur et à mesure". 
A) A vanvera. B) Alla rinfusa. C) Man mano. D) Alla lettera. 
 

086. Traduisez l'expression suivante: "avoir faim". 
A) Avoir les crocs. B) Avoir du bol. C) Ficher le camp. D) Faire la causette. 
 

087. Traduisez l'expression suivante: "semplicemente". 
A) En vrac. B) A tout prix. C) Tout court. D) Coup de barre. 
 

088. Dans cette liste de noms, il y a seulement un nom féminin: lequel? 
A) Épisode. B) Espèce. C) Intervalle. D) Emblème. 
 

Leggere il brano e rispondere alle seguenti 3 domande. (089 - 091) 
Lisez cet extrait tiré du journal Le Point et complétez avec les options correctes. Aux côtés de Myriam El Khomri, lors de l'interview aux 
Échos, son directeur de cabinet Pierre-André Imbert se charge de corriger les imprécisions de la ministre. Ce dernier est un fidèle de 
Manuel Valls qui le maintient à ce (n 1)____ depuis le début du quinquennat, sous le patronage de Michel Sapin d'abord, de François 
Rebsamen ensuite et enfin de Myriam El Khomri. "Le véritable ministre du Travail, c'est lui", écrit même Pierre Jacquemain. Quelques 
semaines plus tôt, ce directeur de cabinet demande aux conseillers de la ministre (n 2)____ une réunion: "Il faut (n 3)____ des éléments 
généraux de langage et ne pas entrer dans les détails de la loi travail. La ministre ne doit pas entrer dans la technicité de la loi." 
 

(089 - 091) 
Lisez cet extrait tiré du iournal Le Point. 
 

089. Choisissez l'option correcte (n 2). 
A) Voire. B) Pour. C) Plutôt. D) Pendant. 
 

090. Choisissez l'option correcte (n 1). 
A) Accord. B) Traité. C) Fond. D) Poste. 
 

091. Choisissez l'option correcte (n 3). 
A) Mal se tenir. B) Se tenir à quatre. C) Tenir sa langue. D) S'en tenir à. 
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Leggere il brano e rispondere alle seguenti 4 domande. (092 - 095) 
Oui dès l'instant que je vous vis 
Beauté féroce, vous me plûtes 
De l'amour qu'en vos yeux je (n 1)____ 
Sur-le-champ vous vous aperçûtes 
[...] 
Ah ! Fallait-il que je vous voie 
Fallait-il que vous me plaisiez 
Qu'ingénument je vous le (n 2)____ 
Qu'avec orgueil vous vous taisiez 
Fallait-il que je vous aime 
Que vous me (n 3)____ 
Et qu'enfin je m'opiniâtre 
Et que je vous idolâtre 
(n 4)____ vous assassiniez. 
 

(092 - 095) 
Lisez ce poème écrit par Alphonse Allais. 
 

092. Choisissez l'option correcte (n 1). 
A) Prenait. B) Prenne. C) Prix. D) Pris. 
 

093. Choisissez l'option correcte (n 4). 
A) Pour que. B) Vers. C) Plus ou moins. D) Par. 
 

094. Choisissez l'option correcte (n 2). 
A) Dise. B) Dit. C) Dis. D) Dix. 
 

095. Choisissez l'option correcte (n 3). 
A) Désespériez. B) Desespérez. C) Déséspéreriez. D) Désesperaient. 
 
 
 
 
 
 

096. Quelle est la fonction du groupe nominal entre guillemets?  
 "Grand spécialiste", Laurent nous a donné de précieux conseils. 
A) Complément d'agent. B) Épithète. C) Apposition. D) Apostrophe. 
 

097. Parmi les options proposées, dans quel mot le suffixe -ard n'a pas de valeur péjorative? 
A) Montagnard. B) Faiblard. C) Richard. D) Nullard. 
 

Leggere il brano e rispondere alle seguenti 3 domande. (098 - 100) 
Après son élection à la tête de la région Languedoc-Roussillon en 2004, Georges Frêche a lancé l'idée de changer le nom de la région 
en "Septimanie", terme qu'il estimait plus (n 1)____ que sa désignation première, issue des travaux de la DATAR. Le Conseil régional a 
commencé à utiliser ce nom très largement. Il a toutefois rencontré une franche opposition d'une large population, surtout chez les 
Catalans dans les Pyrénées-Orientales qui estimaient que le nom "Septimanie" pourrait (n 2)____ l'identité catalane et nier la double 
identité culturelle présente dans la dénomination même de Languedoc-Roussillon. De plus, l'ancienne Septimanie ne recouvrait pas 
exactement les limites du Languedoc-Roussillon actuel, spécialement le Gévaudan qui est aujourd'hui (n 3)____ de la Lozère. 
 

(098 - 100) 
Lisez cet extrait et complétez avec les options correctes. 
 

098. Choisissez l'option correcte (n 2). 
A) Satisfaire. B) Nuire à. C) Sauver. D) Obéir à. 
 

099. Choisissez l'option correcte (n 1). 
A) Jugeable. B) Jubilaire. C) Judiciare. D) Judicieux. 
 

100. Choisissez l'option correcte (n 3). 
A) Le département. B) Le quartier. C) La nation. D) La ville. 
 


